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Saction A : (30 x 2 marks )

for each question, four options are given. Choose the most sultable cption
and shade your answer in the Optical Answer Sheet (OAS) provided.

1.

Which of the following characteristics do all mammals have?

{1)  Theylive onland.

(2  They have four legs.

(3)  They have hair on thelr body.
{4)  They give birth to their young.

Marina made some observations on 3 animals, a lion, a tiger and an eagle.
She noticed that the animals have some similarities.
Which of the following observations made by Marina are true?

A : They live on tand.

B : They are mammals.

C : They have four fegs.

D : They feed on other anfmals.
(1)  AandB

(2 AandD

(3 Band C

{4 CandD

Four girls, Lola, Canmie, Ruthra and Rebecca, made a comparison between a
mealworm and a sunflower plant. The gifls mada the statements below.

Lola The mealworm can move but the sunflower plant cannot.

Camrie | The mealworm cannot photosynlhesize but the sunflowar plant
carl.

Ruthra | Soth the mealworm and the sunflower plant need waler to
supvive. '

Rebocca | Boih the mealworm and the sunflower plant give out carbon

dinxida afl the fime.

Whose stetement is incommect?

{1) Llola
(2} Canmie
(3} Ruthra

(4) Rebecca
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Which of the following statements show/s that some mnicro-organisms islare
useful to man?

A , ‘Mould makes bread soft.

B : Yeast is added to make bread flufiy.

C . Yogurt drinks contaih hactaria that help in digestion.
(1) Aonly

(2 Bonly

(3) AandB

(4} BandC

The living things shown below are known as fungi.

=

Hair-cup moss cup fungi

VWhich of the following statements about them are 'ncerrect?

A : The mould can make its own faod.

B : The toadstaol is fixed in one position.

C T The cup fungi feads on dead planis.

D : The hair-cup 1ness responds gquickly to changes.
(1} AandB

{2) Aand D

(3} Band C

(4 CandD
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The tabla below gives information on two ptants, 8 and T, based on two
characteristics.

Flants Bears fruit Grows on land
i Yes Mo
T ‘No Mo

From the information above, where do plants S and T belong in the
followiing classification table?

Plants |

| ]

MNon-flowering Flowering

Water plant Land Plant Water Plant | Land Plant

|

A B C D
Flant S FlantT
& A B
(23 C A
(33 C D
{4} D A
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The diagram below shows the life cycle of a plant.

N

Adult ptant  Young plant

\Which of the foilowing plants have a life cycle similar to the one abave?

A Chilli

B Daffedil

C Sunflower

D Whater hyacinth
{1y AandB

2y AandC

(3 B and D

{4/ CandD

The table below shows a comparison between the life cycles of a mosquito
and a housefly made by Adele, Beatrice, Charlofte and Deborah.

Comparison Mosquito | Housefly |
Adele Lays eggs in waler. Mo Yes
Beatrice | Has four stages in iis [ife cycle. Yes Yes
Charlotte | Young resembles the adull. No No
.[Deborah | |s considered a pest In the adult stage Yes Ne |

Who have made the cotrect comparisons?

(1  Deborah and Adele
(2)  Adele and Beatrice
{3) Bealrice and Charlatle
(4)  Chariotte and Deborah
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9.

10,

The diagram below shows Jamia's family tree.

Grandfather

Grandmother

s

Rogar

OEQE
ke

Jarnie

Key: [ |Mmale

O Female

How are Jamie and Rogey relaled?

Roger is Jamie's

(1) aunt
(2) uncle
{3} father

{4} brother

The diagram below shows a certain process.

-carbon
diaxide

-+

walar

suntight

.

chiorophyl!

What is the process known as?

(1)  Moulting

{2} Fertilisation
(3  Respiration
(4) Photosynthesis
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11.

12.

: Pot A FotB Pol G
Type of soil clay garden soll sand
"~ Amount of water given 200 ml 200 ml 200 ml

The graph helow shows difierent jevels of carbon dioxide in the airin & day
at the Botanical Gardens.

Level of T
carbon
" diokide in C

the air /\a
B

—>» Time

=

\Which point on the graph, A, B, C or D, shows the level of caroon dioxide in
the alr at night?

(y A
() B
3 C
4 D

Three similar potted plants, A, B and G were placed in a garden. The table
below shows the types of sail used and the amount of water given {o each
plant daily.

- What is-the purpose of this.experiment?

(i3 To find out if plants need sunlight tc grow well.

(2) Tofind out if plants need soil and water to grow.

(3) To find out haw much water is neaded for plants to grow.

{4y  To find out how well ihe plants can grow in different types of soil.
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43.  Natasha placed a balsam plant in a beaker of red water, Afier 3 days, she
cut the stem of the plant and noticed that the tubes found in the stem had
turned red.

_ Tubes turnad red

Cross section of the stem

Ealsam planl

From this experiment, what can Natasha conclude about the function of the
fubes?
The function of the tubes is to

{1} store food for the ptant

{2} .- shsorb waler and mineral salts for the piant

(3}  contain the green pigment that is needed to make food

(4) transport water from the rocts to the other paris of the plant

14.  Jennifer conducted an experiment to find out the conditions needed to pravent
rnushroom from rotting, Two mushrooms were placed in each of the covered
jars A, B, C and D, and kept in different conditions as shown below.

Jar A ) Jar B JarC Jar D
kept at room kept at room keptat5 C keptat5°C
temparature temperstura :

Py L“i:{.!-je_-:'f“"’ - -?'-Ff':f_‘_—"uﬁ =5

water

After one week, only the mushroems in Jar D did not rot.

If the same tvne of mushrooms were shipped from India to Singapore, which
ona of the following conditions would allew the mushrooms to be kept as
fresh as possibie Juring shipment?

(1) Dryat5°C

{2) Moistat5°C

(3) Dy at room temprrature
{4y  Woist at room temperature
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Jamie was given four cups of drinks, She was blindfolded and told to guess
the names of the drinks. What senses would best help her to find out the
SNSWETT

-—
1]

{1y  sightand smell
{2) smell and touch
(3)  ftouch and sight
(4} tasteand smell

16. Isabe) has a pat cat. Whenever she strokes her cat, it will purr. The cat is
responding to .

(1)  sight
(2) sl
(3) touch
{4) hearing

+7.  Which of the following statements about $ali§a istare true?

A : Saliva helps to digest food.

B ; Saliva makes food easier to swallow.

C : Saliva helps food to be absorbed in the stomach.
(1y Aonly

{2) B only

{3y AandB

{4) BandGC

15, The flow chart below shows the route taken by foad through the human body.

mouit A N B | small | large c .-
- intestine intestine

Which one of the foliowing shows what A, B and C represent?

1 A E c ]
{1 windpipe ungs ribcage |
{2} guitet windpipe stomach
{3} lungs stomach anus
{4} gullet stormach anus
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19.

20.

The diagram below shows a system found in the human body.

!

In which part, 5, T,U or 'V, is;_ftmd digested and passed inito the blood?

(1) 8
(2 T
3 U
4 Vv

Which ona of the foliowing is true about muscles?

{1} Muscles are par of the skeletal system.

{2}  Muscles are places where two or more bones meet.

{3}. Muscles are the nerves that send messages to the brain.

{4} Muscles form a system that works with the skeletal system to enable
maovemeant. )
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21.  The diagram beio
the friceps and the

w shows the shape of lhe two muscles of the upper arm,
biccps, when the arm is bent.

L _jrj-f_..
. f ’i/i L‘ biceps
FAlT /
i L : -1-*."——-"""_'_.".'
( ,..%———-h_;_:_—__.::_::—_;_q-::':--;j
SIS
triceps -\‘1’\

\Which one of the following shows what the tw

arm is straightenedy

a muscles look like when the

{1)

Biseps cantracl

Triceps vonlract

(2)

Biceps relax

T |
T }?E:l::_.?.::-.__- =

Triceps relax

(3)
el

Biceps relax
|

‘-&ﬁ"—_—-;

Triceps coentract

Triceps refax
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22,

23,

The tzhble below shows some statements made by four girls about the
importance of joints.

Statements
| Maya Jointa protect the bones.
Chine Joints suppori the hody.
Odelia Joints strengthien the bones.
Kristing Joints enable movement,

Who has made the correct statement?

{1y - Maya
(2) Chloe
(3) Odelia
{4y  Kiristine

The diagram balow shows the human skeleton with paris fabelled
as R, 8, Tand U

Which one of the following statements about the paris labelled is true?

(1) R protects aur eyes,

(2) S protects our stomaci.

(3) T protects our small intestine.
{4y U protecis ourfarge intestine.
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Which onz of the following statemet:is is pol a function of the skelatal
system? '

(1} It supparis our hody.

(2} It gives shape to our body.

(3) It protects some of our organs. :

{4 t removes the unwanted air from aur body.

Which one of the following systems is also known as the transport system of
the human body? .

(1)  Skeletal System

{2} Mozcutai-Systen
(3) Circulaiory System
(4} Respiratory Sysiem

study the flow chart below.

" Human Systems

System A System B System G System D
mouth thigh bone biceps heart
stomach - hip bone triceps small intestine

Which one of the systems above has an organ that is wrongaly grouped?

{1} System A
{2y SystemB
(3} Sustem G
{4y SystemD
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Which one of the following propariies of plastic is the most Important ir the
making of & raincoat?

(1)  waterproof

.(2)  nol expensive
(3}  an elastic material
4)

a man-made material

Lydia compared the hardness of four objects, P, @ R and S, by serafching
them with different rulers.

She then recorded her observations in ihe table below, using a tick { v 1o
indicate the presence of scratch marks on the objects and using a cross

{ x ) to indicate the absence of scratch marks on the objects.

Presence of scratch marks mada by
Objects Metal ruler Wooden ruler | Plastic ruler
P x e X
Q v v v/
R Vv x X
S v v/ x
Which cne of the following shows the hardest and softest objects carreclly?
Hardest Cbject Softest Object
(1) Q P
(2) S R
) P q |
{4) Q 5
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29.

30.

When the rod was brought near the bar magnet, the bar magnet moved
away from 1t

bar magnet rod

What is ¥ most likely to be?

1) East-seeKing pole

2) West-seeking pole
3) North-seeking pole
4) South-seeking pole

The diagram below shows an electromagnat.

hattaries

—n

iron rod

IR S

paprer clips

which of the following can be done lo make the electromagnet attract mere

paper clips?

A Add one battery.

B : Remove cne battery.

C : Incraase the number of tuins of wire around the iron rod.
D : Decrease the number of turne of wire around the iron rod.

(1"  Aonly
(2) Bonly
{(3) AandC
{4 DBandD
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Section B : { 40 marks )

wilte the answers In the blanks provided.

The diag,. am below shows a milipede and a mimosa plant.

31.
millipede Mimosa plant
(a) How do a millipede and a mimosa plant get their food? {im)
(b}  How do they respond fo tauch? (Tm)
32.  Animal X has the following charactaristics:
Method of reproduckion # Layeggs No
Gives birth to its young Yes
Type of cuter covering Hair f Fuy Yes
. Feathers No
. Scales No
‘Number of legs/limbs 2 . No
4 Yes
1 No
(a)  Which group of animals daes animal X belong to? (1m)
(im}

(b} Give an exampie of animal .
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33

34.

The diagram below shows the roots of three different plants.

Plant W Plant X Plant ¥

{a) Which plant hag raols that hoid it most firnly io the ground? (1m]

(b)  Give a reason for your answer in {a). (im)

(c)  Give ancther function of roots. (tm)

The table balow shows some planis that have been classified according to
their edible parts,

Classify the plants given in the box below according to their edible plant
pars. (2m)

péa . tomdlo  twrfiip cetéry

Edible ptant parts

S :
I 1 I i

Roof Stem Fruit Seed
Tapicca Sugar cane Apple Groundnut
Carrot Bamboo shoat Chili Barley
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35. CGrace obaepved the different étages of development of a Bulterfly over a
period of time. She recorded her obsarvations in the table below.

Date Obse;vation

2™ February | Found an egg of a bﬁtterfiy on a leaf.

77" Fehbrbary | Egg turned inte a caierpiliar,

21% February | Caterpillar turned into a pupa.

8" March Pupa turned into a butterfly.

Based on the given information, answer the following questions.

(@)  Onwhich date did the young of the butierfly stopped eating and
moving? {1m)

(b)  When did the larval stage begin? (1m)

(c) At which stage of the life cycls of a bullerfly is it a pest to farmers?
{(1m)
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36.

37,

t ook at the diagram below.

e -
i ———— [caves covered
%'I@/ with black paper

Plant A

All the leaves of the Flant A were completely covered with black paper.
The plant was left in the sun and given enough wate,

(a) Wil the plant survive aftér one month? {im}

(b)  Explain your answer in (a). : {1m)

The diagram bel:;w shows the finy epenings found on & certain partef a
plant. .

tiny cpenings

{a)  What are these tiny openings called? {1m}

(0}  Give one reason why the tiny openings are important 10 plants.
(1m)

()  Onwhich part of the plant are inese openings mainly found? {1m}
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38 (a) Whatisthe function of the digestive system? (tm)

[(1}] At which pari of the digesiive system is water absorbed from the
ndigested food?2 ' (trm)

38.  The diagram below shows an organ in the human body.

When you eal, the food will go down s fube as shown in the diagram above.

{a} Mame tha organ shown above, {1rm)
(kY  The movemant of the allows the foad

{o go down the tube. " (1m)

~{e)  Where will this food go to next? {(1mj}
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AQ.  The diagram helow shows a system i the human body-

(@)

(by ~Name the systam above.

(2m)

{1m}

I

{c) The system above allows us to teke in

fha air and give owt o ———

41, Wirile “True' or ‘Faise’ for each of lhes=e statements.
{a} Food that enfers the stomach is fully digested.

5y The guﬂet ia also called the gesophagus.

p3 Science SAZ 2005 —- Page 20
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42.  The diagram below shows a human body system.

(a}  Name the system shown above, (1m}

(b)  What do you call the vessels that transport bldod around the body;’?
{im

{c) Name two things that the biood transports around the hody. {2m)

and
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43.

The diagram betow shows same bones in our body.

leg bone

i

Study the ¢l

the comrect boxes. (The firs

| e ————

finger bane

assification table below and classify the hones given ab
t box, (a), Is done for you.)

—

Bones

-

arm bone

L

(3m}

-

L

Straight

ove in

Ccurved:

(d)

1

Leng

Short

(a) leg bone

{c)

(b)
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44,

Mary tied a paperclipto a black of wood using a string. She then held 2 bar
magnet above the paper ¢lip. She noticed that the paper clip was pulled up

as shown 1o the diagram below,

bar magnet

paper clip

block of wood

{a) The dizgram abhave shaws thai the paperclip is
to the bar magnet, (1m)

(b} Mary than placed an iron sheet between the magnet and the paper clip.

What happened to the paper ¢lip? (1m)

Fa Seengs SAZ 2005 — Paga 23
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435,

Samantha learnt that the more elastic a string is, the more it can stretch.
After that, she stretched four different types of string. Then she measured
and recorded the inciease in length of each string afier it was siretched as
shown in the bar graph below.

Increase in1 L

length

String

(a)

{b)

" I'Calour of the string

From the rasults in the bar graph above, which is the most elastic
string? {trm}

For the above lest io be a fair one,

write { Yes ) against the variable/s that shouid be kept the same
and { No ) against lhe variablels that should he differant in the
table halow. {(2m)

—

Variabies Kept the same

Thickness of the siring

Tength of string before stretched

End of Faper
Please check through your work!
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1)

b

i1}
16)

LTI

a0 3
26) 4

Q3la

(32a.

Q33a.

Q34

Q35a.

Q36a.

037,

Answer Sheets
Methodist Girls® Pri 3 8§42/ 2006 Science

2 0N 14 4 5 2
B3O8 309 2 10) 4
12) 4 13) 4 14) 1 15) 4
17y 3 18) 4 19) 3 20) 4
22y 4 23) 1 24) 4 15) 3
21 23 29 3. 30) 3

Miltipede gel their from decay matters.
Mimosa plant made their own food.
The millipade will curl up while mirroza will cloge up.

Animal X belongs to mammals group.
An cxample of X is tiger.

Plant Y holds the ground mest firmly.

The roots will spread evenly and deeper info the ground in order to hold
firmly.

They take in water and mineral salis from the soil for the plant.

Boot @ tumip
Stem  : celery
Fruit : tomato
Seed : pea

On 21* February, the young of butterfly stopped eating and moving.
It's begun on 21sst Febrmary.
At caterpillar stage, it is a pest for farmers.

No, then plant will not survive after onc menth.

The leaves of the plant needs sunlight to make food, the plant wers
completely covered with black paper, without the sunlight eventually the
prant will dic.

Stomata
They take in carbon dioxide and give out carbon dioxide,

Underside of the leaves

Pagc Taf 2



Q3%a.

(3%

Q40a.
Q4la.

42a.

Q44a.

Q45a.

The digestive system in our body breaks down the food that we eat into
simpler substances and allows them to ahsorb.
At the larpge intestins.

The organ show is gallet
The movement of the muscles allows the food to go down the fube.
It will go the stomach.

Part A is windpipe, Pasi B is lungs
1t is the respiratory system.

A food that enters the siomach is fully digested. {(False)
The gullet is also calied the esophapus (Truc})

The diagram shown s the circulatory system.
Ii called blood vessels.
Digested and oxygen.

Leg bone
Arm bone
Finger bone
Rib cage

The diagram above shows that the paper clip is attracted to fhe bar
magnel, '

The paper clip will drop.

String P

Colour of the string : No
Thickness of the string : Yes

Length of string befores streiched 1 Yes
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